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bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6
g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	1. 
	‡gvt igRvb Avjx
	g„Zt weï
	01
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	2. 
	‡gvt dRjy †mvbvj
	g„Zt ZwQi †mvbvj
	02
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	3. 
	‡gvt bwKeyj Bmjvg
	g„Zt j‡qR DwÏb cÖvs
	03
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	4. 
	‡gvt LvRvgywÏb
	g„Zt j‡qR DwÏb cÖvs
	04
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	5. 
	‡gvt Rvgi“j †mvbvj
	g„Zt IwQi
	05
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	6. 
	‡gvt ˆmq` Avjx
	g„Zt gwRei ingvb
	06
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	7. 
	‡gvt bRi“j †mvbvj
	g„Zt ZwQi †mvbvj
	07
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	8. 
	‡gvt gRby„ Avjg 
	g„Zt Avey mvB`
	08
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	9. 
	‡gvt bvwRgyÏxb
	g„Zt AvwRgyÏxb
	09
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	00/=
	

	10. 
	‡gvt mI`vMi
	g„Zt wmivR Lvb
	10
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	11. 
	‡gvt kwn`yj 
	g„Zt wmivR Lvb
	11
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	12. 
	kªx iex P›`ª Lvgvi“
	kªx mwó Pib Lvgvi“
	12
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	13. 
	kªx ibwRr P›`ª Lvgvi“
	kªx mwó Pib Lvgvi“
	13
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	14. 
	kªx weò c` gÛj
	g„Zt kªx KvwZ©K P›`ª gÛj 
	14
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	15. 
	kªx mykvš— gRyg`vi
	g„Zt kªx wec` gRyg`vi
	15
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	16. 
	kªx cÖkvš— gRyg`vi
	g„Zt kªx wec` gRyg`vi 
	16
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	17. 
	kªx gwZ evjv
	g„Zt kªx wec` gRyg`vi 
	17
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	00/=
	

	18. 
	‡gvt Lv‡`g Luv
	‡gvt wmivR Luv 
	18
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	19. 
	‡gvt d‡iR Avjx
	g„Zt wegy mi`vi
	19
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	20. 
	kªx hyMj fv`ªx
	g„Zt kªx gwb fvcÖx
	20
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
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g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	21.
	kªx ïej PµeZ©x
	g„Zt kir PµeZ©x
	21
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	22.
	‡gvt Avi‡Rj mi`vi
	g„Zt weï mi`vi
	21
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	23.
	‡gvt Avdmvi Avjx
	g„Zt evei Avjx
	23
	wejgvwoqv c~e©cvov
	
	4
	
	2%
	8,000/=
	160/=
	

	24.
	‡gvt bwRi DÏxb
	g„Zt b‡qR DwÏb
	24
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	25.
	‡gvt bvwmi DÏxb
	g„Zt b‡qR DwÏb
	25
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	26.
	‡gvt R‡qb DÏxb
	g„Zt b‡qR DwÏb
	26
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	27.
	jvj ‡gvnv¤§`
	g„Zt ggZvR Avjx
	27
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	28.
	‡gvt AvdvR DÏxb
	g„Zt Rqbvj
	28
	wejgvwoqv c~e©cvov
	
	
	
	2%
	1,000/=
	20/=
	

	29.
	‡gvt iRe Avjx
	g„Zt Zv‡Ri Avjx
	29
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	30.
	‡gvt Avt iv¾vK
	g„Zt Zv‡Ri Avjx
	30
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	31.
	‡gvt m‡`i Avjx
	g„Zt AvZe Avjx
	31
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	32.
	‡gvt Avjg
	g„Zt Zv‡qR DwÏb
	32
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	33.
	‡gvt Avãyj mvjvg
	g„Zt Zv‡qR DwÏb
	33
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	34.
	‡gvt †`jei Avjx
	g„Zt Zv‡qR DwÏb
	34
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	35.
	‡gvt wmivRyi Bmjvg
	g„Zt j‡qR DwÏb
	35
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	36.
	‡gvt kwn`yj Bmjvg
	g„Zt j‡qR DwÏb
	36
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	37.
	‡gvt AvmgvDj
	g„Zt j‡qR DwÏb
	37
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	38.
	‡gvt GgvR DwÏb
	g„Zt j‡qR DwÏb
	38
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	39.
	‡gvt mnive Avjx
	g„Zt g`b †kL
	39
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	40.
	‡gvt Aveyj dRj Avjx
	g„Zt evei Avjx 
	40
	wejgvwoqv c~e©cvov
	
	5
	
	2%
	10,000/=
	200/=
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g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	41.
	‡gvt m‡gR DÏxb †kL
	g„Zt g`b †kL
	41
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	42.
	‡gvt Avt gwR`
	g„Zt `v`j Avjx
	42
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	43.
	‡gvt AvjvDwÏb
	g„Zt gvwbK Pvb
	43
	wejgvwoqv c~e©cvov
	
	4
	
	2%
	8,000/=
	160/=
	

	44.
	‡gvt AvwjgywÏb cÖvs
	g„Zt gvwbK Pvb
	44
	wejgvwoqv c~e©cvov
	1
	2
	
	2%
	5,000/=
	100/=
	

	45.
	‡gvt Rvjvj DwÏb
	g„Zt gvwbK Pvb
	45
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	46.
	‡gvt Qwei Avjx
	g„Zt ‰mq` Avjx
	46
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	47.
	‡gvt KwjgywÏb
	g„Zt ingvb
	47
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	48.
	‡gvt Rvwn`yj Bmjvg
	†gvt Bqv` Avjx
	48
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	49.
	‡gvt Bqv` Avjx
	g„Zt ˆmq` Avjx
	49
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	50.
	‡gvt myenvb Avjx
	g„Zt AvgvbZ Avjx †kL
	50
	wejgvwoqv c~e©cvov
	1
	1
	
	2%
	3,000/=
	60/=
	

	51.
	‡gvt Lwjjyi ingvb
	‡gvt gK‡Q`
	51
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	52.
	‡gvt Avt AvwRR †kL
	g„Zt nvivg †kL
	52
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	53.
	‡gvt I‡q` †kL
	g„Zt nvivg †kL
	53
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	40/=
	

	54.
	‡gvt mwKi DÏxb
	g„Zt †ckKvi
	54
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	55.
	‡gvt Q‡ei Avjx
	g„Zt AvZe  Avjx
	55
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	56.
	‡gvt Imgvb Avjx
	g„Zt †ckKvi
	56
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	57.
	‡gvt Beªvwng gÛj
	g„Zt mgiZzj­vn& gÛj
	57
	wejgvwoqv c~e©cvov
	
	5
	
	2%
	10,000/=
	200/=
	

	58.
	‡gvt Iwmi DwÏb
	g„Zt  j‡Qi cÖvs
	58
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	59.
	‡gvt dzKKvi Avjx
	g„Zt Zv‡Ri DwÏb
	59
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	60.
	‡gvt †R‡ni Avjx
	g„Zt Zv‡Ri DwÏb
	60
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	61.
	‡gvt dzjevi  Avjx
	g„Zt Zv‡Ri DwÏb
	61
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	62.
	‡gvt †Lvi‡k` Avjx
	g„Zt digvb †kL
	62
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	63.
	‡gvt AvmKvb †gvj­v
	g„Zt BmgvBj
	63
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	2,000/=
	20/=
	

	64.
	‡gvt Avt iv¾vK †gvj­v
	g„Zt BmgvBj
	64
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	65.
	‡gvt AvZZvQ Avjx
	g„Zt BmgvBj
	65
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	66.
	‡gvt QwjgywÏb
	g„Zt i“cPvb Avjx
	66
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	67.
	‡gvt Rg‡k` Avjx
	g„Zt migvb Avjx
	67
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	68.
	‡gvt †mvbvB
	g„Zt Avãj Rwjj
	68
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	69.
	‡gvt evnvi Avjx
	g„Zt Avãj Rwjj
	69
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	70.
	‡gvt gvwbK Avjx
	g„Zt Avãj Rwjj
	70
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	71.
	‡gvt Rûi“j Bmjvg
	g„Zt †gveviK
	71
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	72.
	‡gvt AvwR` Avjx
	g„Zt IwQi DwÏb
	72
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	73.
	‡gvt Av‡e` Avjx
	g„Zt Avt Kwig Avjw
	73
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	74.
	‡gvt gK‡Q` Avjx
	g„Zt digvb Avjx
	74
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	75.
	‡gvt dvby cÖvs
	g„Zt IwQi DwÏb cÖvs
	75
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	76.
	‡gvt Avt gwR`
	g„Zt IwQi DwÏb cÖvs
	76
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	77.
	‡gvt Rv‡ni Avjx
	g„Zt †g‡ni Avjx cªvs
	77
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	78.
	‡gvt Rvgvb Avjx
	g„Zt †g‡ni Avjx cªvs
	78
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	79.
	‡gvt Avt Qvjvg
	g„Zt †g‡ni Avjx cªvs
	79
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	80.
	‡gvt Qv‡ni Avjx cÖvs
	g„Zt †g‡ni Avjx cªvs
	80
	wejgvwoqv c~e©cvov
	
	4
	
	2%
	8,000/=
	160/=
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g~j¨vqb ev‡`
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	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	81.
	‡gvt Av‡Qi Avjx
	g„Zt ‡g‡ni Avjx cÖvs
	81
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	82.
	‡gvt †m‡K›`vi Avjx
	g„Zt wcqvi 
	82
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	83.
	‡gvt Avt QvËvi Avjx
	g„Zt Rwni Avjx
	83
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	84.
	‡gvt LvBi“j Bmjvg
	g„Zt Rwni Avjx
	84
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	140/=
	

	85.
	‡gvt bRi“j Bmjvg
	g„Zt Rwgi DwÏb
	85
	wejgvwoqv c~e©cvov
	1
	3
	
	2%
	7,000/=
	80/=
	

	86.
	‡gvt Avqib †`Iqv
	g„Zt bwei DwÏb
	86
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	87.
	‡gvt Awei DwÏb
	g„Zt Zwgi DwÏb
	87
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	40/=
	

	88.
	‡gvt ggZvR cÖvs
	g„Zt gyRvnvi
	88
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	89.
	‡gvt gym‡jg DwÏb
	g„Zt gyRvnvi
	89
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	20/=
	

	90.
	‡gvt g‡qb Avjx
	g„Zt gyRvnvi
	90
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	91.
	‡gvt AvK‡Q` Avjx
	g„Zt nvmgZ
	91
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	92.
	‡gvt gyKzj †ecvix
	g„Zt cvkvb
	92
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	93.
	‡gvt Aeyj †ecvix
	g„Zt cvkvb
	93
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	94.
	‡gvmvt AvwRib †eIqv
	g„Zt nvmgZ Avjx
	94
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	0/=
	

	95.
	‡gvmvt giwRbv †eIqv
	g„Zt Avnv` Avjx
	95
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	96.
	‡gvt Avt iwng cÖvs
	g„Zt Avt Kwig
	96
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	97.
	‡gvt AvdRvj †nv‡mb
	g„Zt Avt Kwig
	97
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	98.
	‡gvt AvwRRyj Bmjvg
	g„Zt Avt Kwig
	98
	wejgvwoqv c~e©cvov
	
	4
	
	2%
	8,000/=
	160/=
	

	99.
	‡gvt Zvi“b
	g„Zt iv‡eŸj Avjx
	99
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	100.
	‡gvt Avãyj n‡g`
	g„Zt †LZz
	100
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	101.
	‡gvt Avt ingvb
	g„Zt mRyeyj­vn
	101
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	102.
	‡gvt evnv`yi
	g„Zt Avt ingvb
	102
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	103.
	‡gvt †`ŠjZ Avjx
	g„Zt Avt ingvb
	103
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	2,000/=
	40/=
	

	104.
	‡gvt e`kv
	g„Zt Avt ingvb
	104
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	105.
	‡gvt LvRv bvwRgDwÏb
	g„Zt i“cvB miKvi
	105
	wejgvwoqv c~e©cvov
	
	
	2
	2%
	6,000/=
	120/=
	

	106.
	‡gvt wjUb cÖvs
	g„Zt g‡qR DwÏb
	106
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	6,000/=
	120/=
	

	107.
	‡gvt wjjPvb cÖvs
	g„Zt weï cÖvs
	107
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	108.
	‡gvt Av¯—vb †kL
	g„Zt Rmxg DwÏb
	108
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	109.
	‡gvt AvZvnvi Avjx
	g„Zt Rmxg DwÏb
	109
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	110.
	‡gvt AvRvnvi Avjx
	g„Zt jvjPvb †kL
	110
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	111.
	‡gvt †gvRv‡¤§j †kL
	g„Zt AvRvnvi †kL
	111
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	112.
	‡gvt Avwgb cÖvs
	g„Zt BqvKze cÖvs
	112
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	113.
	‡gvt AvwR` cÖvs
	g„Zt BqvKze cÖvs
	113
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	114.
	‡gvt gbvnvi Avjx
	g„Zt weï cÖvs
	114
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	115.
	‡gvt wely cÖvs
	g„Zt †mv‡jgvb Avjx
	115
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	116.
	‡gvmvt †g‡niRvb †eIqv
	g„Zt Avwgi cÖvs
	116
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	117.
	‡gvt gvwbK dwKi
	‡gvt †iRvi dwKi
	117
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	118.
	‡gvmvt mwLbv †eIqv
	g„Zt gg‡mi Avjx
	118
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	10/=
	

	119.
	‡gvt BqvKze Avjx
	g„Zt †mv‡jgvb Avjx
	119
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	120.
	‡gvt AvBqye Avjx
	‡gvt BqvKze Avjx
	120
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	121.
	‡gvt Revb Avjx
	‡gvt mg‡ki Avjx 
	121
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	122.
	‡gvt †R‡Ki Avjx
	‡gvt mg‡ki Avjx
	122
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	123.
	‡gvt Av‡qR DwÏb
	‡gvt Rygj cÖvs
	123
	wejgvwoqv c~e©cvov
	1
	2
	
	2%
	4,000/=
	80/=
	

	124.
	‡gvt †g‡ni cÖvs
	g„Zt Beªvwng cÖvs
	124
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	4,000/=
	80/=
	

	125.
	‡gvt dwRei Avjx
	‡gvt Avt Mdzi Avjx
	125
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	126.
	‡gvt nvweeyi ingvb
	‡gvt Avt Mdzi Avjx
	126
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	1,000/=
	20/=
	

	127.
	‡gvt jyZdzi Avjx
	‡gvt Avt Mdzi Avjx
	127
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	4,000/=
	80/=
	

	128.
	‡gvmvt dviRvbv †eIqv
	g„Zt jweb g„av
	128
	wejgvwoqv c~e©cvov
	
	3
	
	0%
	1,000/=
	00/=
	

	129.
	‡gvt BDmyd miKvi
	g„Zt i“cvB miKvi
	129
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	130.
	‡gvt mvgv` miKvi
	g„Zt i“cvB miKvi
	130
	wejgvwoqv c~e©cvov
	
	4
	
	2%
	6,000/=
	120/=
	

	131.
	‡gvt nvwbd Avjx
	g„Zt Kzievb Avjx
	131
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	8,000/=
	160/=
	

	132.
	‡gvt migvb Avjx
	g„Zt Kzievb Avjx
	132
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	6,000/=
	120/=
	

	133.
	‡gvt †mvbv Dj­vn
	g„Zt i“¯—g Avjx
	133
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	134.
	‡gvt Avt gvbœvb
	g„Zt i“¯—g Avjx
	134
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	4,000/=
	80/=
	

	135.
	‡gvt AvgRv` Avjx
	g„Zt i“¯—g Avjx
	135
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	136.
	‡gvt mg‡ki Avjx
	g„Zt bqb †kL
	136
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	137.
	‡gvt beve Avjx
	‡gvt wely cÖvs
	137
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	138.
	‡gvt AvQv` 
	g„Zt gK‡Q` Avjx
	138
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	139.
	‡gvt gqbvj Avjx
	g„Zt gK‡Q` Avjx
	139
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	140.
	‡gvt Kv‡kg cÖvs
	g„Zt Bw`ªm cÖvs
	140
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	141.
	‡gvt AvKei cÖvs
	g„Z Bw`ªm cÖvs
	141
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	142.
	‡gvt jwei DwÏb
	g„Z Qwgi DwÏb 
	142
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	00/=
	

	143.
	‡gvt `wi DwÏb
	g„Z Qwgi DwÏb 
	143
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	144.
	‡gvt d‡Ri Avjx
	g„Z gK‡Q` gyÝx 
	144
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	145.
	‡gvt Avt KzÏym
	g„Z cvPz cÖvt
	145
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	146.
	‡gvt jvjy
	g„Z iv‡eŸj 
	146
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	147.
	‡gvt evi“
	g„Z iv‡eŸj
	147
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	148.
	‡gvt ïKzi Avjx
	g„Z Avãyj
	148
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	20/=
	

	149.
	‡gvt nvi“
	g„Z iv‡eŸj
	149
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	150.
	‡gvt gwbi DwÏb
	‡gvt Kvjy miKvi
	150
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	151.
	‡gvt nv‡Pb Avjx
	‡gvt Aveyj mi`vi
	151
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	152.
	‡gvt Avmjvg DwÏb
	‡gvt m‡ei g„av
	152
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	153.
	‡gvt m‡ei g„av
	g„Z Rwni g„av
	153
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	154.
	‡gvt Avjg g„av
	‡gvt m‡ei g„av 
	154
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	155.
	‡gvt iwdK Avjx
	g„Z igRvb 
	155
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	20/=
	

	156.
	‡gvt Avt jwZd
	g„Z igRvb
	156
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	157.
	‡gvt mvnv`
	g„Z m`i DwÏb
	157
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	158.
	‡gvt Avt Lwjj
	g„Z m`i DwÏb
	158
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	159.
	‡gvt nv‡Ri Avjx
	g„Z Zwgi DwÏb
	159
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	160.
	‡gvt Imgvb Avjx
	g„Z Igi Avjx
	160
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	161
	‡gvt gm‡jg DwÏb
	g„Z Igi Avjx
	161
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	162
	‡gvt jvj wgqv
	‡gvt Avãyj mi`vi
	162
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	163
	‡gvt Avkivdzj
	†gvt jvj wgqv
	163
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	164
	‡gvt Avt mvËvi Avjx
	†gvt Avãyj mi`vi
	164
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	165
	‡gvt mygb Avjx
	†gvt iIkb Avjx
	165
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	166
	‡gvt jvjKzj Avjx
	†gvt Avãyj
	166
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	167
	‡gvt iwdK Avjx
	g„Z kvKzj
	167
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	168
	‡gvt Vv›Uz
	g„Z gK‡Q` Avjx 
	168
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	169
	‡gvt AveŸvm gvjvKvi
	g„Z AvwQi gvjvKvi 
	169
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	170
	‡gvt Avjgvn Avjx
	†gvt AveŸvm Avjx
	170
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	171
	‡gvt eveyj
	†gvt AveŸvm Avjx
	171
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	172
	‡gvt Gikv` Avjx
	g„Z gK‡Q` Avjx
	172
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	173
	‡gvt mvnv` Avjx
	g„Z gK‡Q` Avjx
	173
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	174
	‡gvt Av‡bvqvi Avjx
	†gvt Rg‡k` Avjx
	174
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	175
	‡gvt ïKzi Avjx
	†gvt Rg‡k` Avjx
	175
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	176
	‡gvt AvZi Avjx
	g„Z Rwgi Avjx
	176
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	177
	‡gvQvt mv‡jnv †eIqv
	g„Z iv¾vK gvjvKvi
	177
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	178
	‡gvt †mvnvb Avjx
	g„Z Lwei DwÏb
	178
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	179
	‡gvQvt AvKwjgv †eMg
	†gvt Rqbvj
	179
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	180
	‡gvt nvqvZ Avjx
	g„Z iKgZ †kL
	180
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	181
	‡gvQvt †iv‡Kqv †eIqv
	g„Z Avt iwng Avjx
	181
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	182
	‡gvt meyi Rvb
	‡gvt Rqbvj Avjx
	182
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	183
	‡gvt iIkb Avjx †kL
	g„Z gK‡Q` †kL
	183
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	184
	‡gvt gvsMb Avjx
	g„Z Lyi‡k` Avjx
	184
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	185
	‡gvt BQnvK Avjx
	g„Z †Lv`v eKm
	185
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	186
	‡gvt †iRvi Avjx
	g„Z Avwid dwKi
	186
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	187
	‡gvt Rvgvj Avjx
	g„Z d‡qR
	187
	wejgvwoqv c~e©cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	188
	‡gvt `yjvj gvjvKvi
	g„Z Iwmi gvjvKvi
	188
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	189
	‡gvt Rvgvj gÛj
	g„Z Kvby gÛj
	189
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	190
	‡gvt Rvdi Avjx
	g„Z d‡qR Avjx
	190
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	191
	 †gvt i“‡ej Avjx
	g„Z i‡q` Avjx
	191
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	192
	‡gvt Rwni Avjx
	g„Z cweb †gvj­v
	192
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	193
	‡gvt gRby
	g„Z Qwni DÏxb
	193
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	194
	‡gvt dRjy
	g„Z Qwni DÏxb
	194
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	195
	‡gvt †gvkvid Avjx
	‡gvt Rwmg DÏxb
	195
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	196
	‡gvt Rwni“i Bmjvg 
	g„Z d‡qR DÏxb
	196
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	197
	‡gvt Rmxg DÏxb 
	g„Z bexb †gvj­v
	197
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	198
	‡gvt Rvjvj DÏxb
	g„Z bexb †gvj­v
	198
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	199
	‡gvt gwRei ingvb
	g„Z d‡Ri Avjx
	199
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	200
	‡gvt nweei ingvb
	g„Z d‡Ri Avjx
	200
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	10/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	201
	‡gvt bRi“j Bmjvg
	g„Z UzKz cv‡Uvqvwi
	201
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	202
	‡gvt AvbQvi mi`vi
	‡gvt Kvjy mi`vi
	202
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	203
	‡gvt gbZvR Avjx
	‡gvt mwei DwÏb
	203
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	204
	‡gvt Avt gwZb
	g„Z †ejy L›`Kvi
	204
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	205
	‡gvt mgmyj Avjx
	g„Z eï cv‡Uvqvix
	205
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	206
	‡gvt Iqv‡R` cv‡Uvqvwi
	‡gvt BmgvBj 
	206
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	207
	‡gvt BmgvBj cv‡Uvqvwi
	g„Z eï
	207
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	208
	‡gvt Avt iwk` cv‡Uvqvwi
	g„Z Kvwgj
	208
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	209
	‡gvt Av‡°j Avjx
	g„Z ingvb wcqv`v
	209
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	210
	‡gvmvt ‡Qvb †eIqv
	g„Z AvwRgywÏb
	210
	wejgvwoqv c~e©cvov
	1
	
	
	0%
	1,000/=
	00/=
	

	211
	‡gvt mwei DwÏb cÖvs
	g„Z Kwni cªvs
	211
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	212
	‡gvt Avãyj Lv‡jK
	‡gvt mwei cÖvs
	212
	wejgvwoqv c~e©cvov
	3
	
	
	2%
	3,000/=
	60/=
	

	213
	‡gvt Avt nvwg`
	‡gvt nvi“ mi`vi
	213
	wejgvwoqv c~e©cvov
	2
	
	
	2%
	2,000/=
	40/=
	

	214
	‡gvt Rv‡e` Avjx mi`vi
	byi †gvnv¤§`
	214
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	215
	‡gvt n‡g` ‡gvj­v
	g„Z Ri“ †gvj­v
	215
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	216
	‡gvt iwdK mi`vi
	g„Z kvgmy` mi`vi
	216
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	217
	‡gvt ïKyi gÛj
	g„Z Rdi gÛj
	217
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	218
	‡gvt Avãyj Rwjj
	g„Z jvj Pvb
	218
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	219
	‡gvt Avãyj Avwjg
	‡gvt gym‡jg DwÏb
	219
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	220
	‡gvt †gvm‡jg DwÏb
	g„Z ewni DÏxb
	220
	wejgvwoqv c~e©cvov
	1
	
	
	1%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi
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	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	221
	‡gvt AvgRv` Avjx
	‡gvt Kv‡kg Avjx
	221
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	222
	‡gvt Avwgb Avjx
	g„Z Avjx Avn‡g`(†j`v)
	222
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	223
	‡gvt Avt †gvwbb Avjx
	g„Z Avjx Avn‡g`(†j`v)
	223
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	224
	‡gvmvt myiRvb †eIqv
	g„Z AvwRRyj cv‡Uvqvix
	224
	wejgvwoqv c~e©cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	225
	‡gvt gvnZve †nv‡mb
	g„Z Avt ingvb wcqv`v
	225
	wejgvwoqv c~e©cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	226
	‡gvt mwdKzj Bmjvg
	‡gvt mwei cÖvs
	226
	wejgvwoqv c~e©cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	227
	‡gvt mwei †gvj­v
	g„Z bweb †gvj­v
	227
	gwncvov
	
	4
	
	2%
	8,000/=
	160/=
	

	228
	‡gvt Rvgvj cv‡Uvqvix
	g„Z ˆmq` 
	228
	kvncvov
	
	2
	
	2%
	4,000/=
	80/=
	

	229
	‡gvt mwdK cv‡Uvqvix
	g„Z †nv‡mb
	229
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	230
	‡gvt Avjx †nv‡mb
	g„Z ‡gvnv¤§` Avjx
	230
	kvncvov
	
	2
	
	2%
	4,000/=
	80/=
	

	231
	‡gvt dzj Pvb Avjx
	g„Z ni“ †gvj­v
	231
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	232
	‡gvt ûgvqb Kwei
	‡gvt gbwRj nK
	232
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	233
	‡gvt Avt Kv‡`i
	g„Z nvwKgZ Lvb
	233
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	234
	‡gvmvt Rvnvbviv LvZzb
	g„Z nvwKg
	234
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	235
	‡gvt Iwn`yj Bmjvg
	‡gvt gbwRj nK
	235
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	236
	‡gvt gwdRyj Bmjvg
	g„Z †nv‡mb cv‡Uvqvix
	236
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	237
	‡gvt Avt gvbœvb MvRx
	g„Z †gvZv‡je MvRx
	237
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	238
	‡gvt Avt ingvb
	g„Z †nv‡mb cv‡Uvqvix
	238
	kvncvov
	
	4
	
	2%
	8,000/=
	160/=
	

	239
	‡gvt gwZb cv‡Uvqvix
	g„Z †nv‡mb cv‡Uvqvix
	239
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	240
	‡gvt AvnmvbDj­v
	‡gvt nvmgZ Dj­vn
	240
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi

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bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	241
	‡gvt i‡n` Avjx
	‡gvt Avt Rwjj gÛj
	241
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	242
	‡gvt gyb‡Qi Avjx
	g„Z †g‡ni dwKi
	242
	kvncvov
	
	2
	
	2%
	4,000/=
	80/=
	

	243
	‡gvt nvmgZ Dj­vn MvRx
	g„Z byi Avn¤§`
	243
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	244
	‡gvt Avwgi Dj­vn
	g„Z †nv‡mb
	244
	kvncvov
	
	2
	
	2%
	4,000/=
	80/=
	

	245
	‡gvt Av‡bvqvi †nv‡mb
	‡gvt Avwgi Dj­vn
	245
	kvncvov
	
	2
	
	2%
	4,000/=
	80/=
	

	246
	‡gvt nvweeyi ingvb
	‡gvt nvmgZ Avjx
	246
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	247
	‡gvt Bqv` Avjx
	‡gvt Qv‡ei gÛj
	247
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	248
	‡gvt Iqv‡n` Avjx
	‡gvt mv‡ei gÛj
	248
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	249
	‡gvt mv‡ei Avjx
	g„Z AvwRR gÛj
	249
	w`qvicvov
	1
	
	
	0%
	1,000/=
	00/=
	

	250
	‡gvt mwn`yj gÛj
	‡gvt mv‡ei gÛj
	250
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	251
	‡gvt Avãyi iwk`
	g„Z Kvwmg DwÏb
	251
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	252
	‡gvt LvKQvi Avjx
	g„Z Kvwmg DwÏb
	252
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	253
	‡gvt Avt QvËvi
	g„Z Kvwmg DwÏb
	253
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	254
	‡gvt Avt ReŸvi Avjx
	g„Z jwni cÖvs
	254
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	255
	‡gvt byi“j nK
	g„Z iwng DwÏb
	255
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	256
	‡gvt bRi“j 
	‡gvt byi“j Bmjvg
	256
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	257
	‡gvt Mdzi
	g„Z Rvdi Avjx
	257
	w`qvicvov
	
	2
	
	2%
	1,000/=
	80/=
	

	258
	‡gvt iwdK Avjx
	g„Z Rvdi Avjx
	258
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	259
	‡gvt nv‡mb Avjx
	‡gvt Kvjy mi`vi
	259
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	260
	‡gvt gv‡Qg Avjx
	g„Z Kvjy mvi`vi
	260
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi
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	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	261
	‡gvt †R‡ni Avjx
	g„Z n‡g` Avjx
	261
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	262
	‡gvt mvB` 
	g„Z n‡g` Avjx
	262
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	263
	‡gvt RyjwdKvi Avjx
	g„Z n‡g` Avjx
	263
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	264
	‡gvmvt Av‡qkv †eMg
	g„Z Avãyj gÛj
	264
	w`qvicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	265
	‡gvt evw`j †nv‡mb
	g„Z `yj©f
	265
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	266
	‡gvt †R‡ni gÛj
	g„Z `yj©f gÛj
	266
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	267
	‡gvt nv‡Zg Avjx
	g„Z wiqvR DÏxb
	267
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	268
	‡gvt AvkKvb Avjx
	g„Z ni“ †gvj­v
	268
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	269
	‡gvt Avt Lwjj
	g„Z jxjPvb
	269
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	270
	‡gvt ïKPvb Avjx
	g„Z ni“ †gvj­v
	270
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	271
	‡gvt mvMi Avjx
	‡gvt †gveviK Avjx
	271
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	272
	‡gvt BqvKze Avjx
	g„Z ‡LZb Avjx
	272
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	273
	‡gvt †R‡Ki Avjx
	g„Z iwng DÏxb
	273
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	274
	‡gvt Avt ingvb
	g„Z iwng DÏxb
	274
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	275
	‡gvt KwjgywÏb
	g„Z iwng DÏxb
	275
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	276
	‡gvt Zv‡ni DwÏb
	g„Z Av‡Qi dwKi
	276
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	277
	‡gvt gv`vi gvjvKvi
	g„Z AvwQi gvjvKvi
	277
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	278
	‡gvt wiqvR DÏxb
	g„Z KwmgywÏb
	278
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	279
	‡gvt nvwbd Avjx
	g„Z KwmgywÏb
	279
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	280
	‡gvt Kv‡kg Avjx
	g„Z Zv‡Qi dwKi
	280
	w`qvicvov
	
	4
	
	2%
	8,000/=
	160/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	281
	‡gvt †gvkviid †nv‡mb
	‡gvt gyb‡Qi Avjx
	281
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	282
	‡gvt mvnv` Avjx
	g„Z bBgywÏb
	282
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	283
	‡gvt R‡e` Avjx
	g„Z bBgywÏb
	283
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	284
	‡gvnv¤§` Avjx
	g„Z Aveyj miKvi
	284
	w`qvicvov
	1
	
	
	2%
	2,000/=
	20/=
	

	285
	‡gvt iwn`yj Bmjvg
	‡gvt mvnv` Avjx
	285
	w`qvicvov
	1
	
	
	2%
	4,000/=
	20/=
	

	286
	‡gvt Rwni DÏxb
	g„Z bweb †gvj­v
	286
	w`qvicvov
	
	4
	
	2%
	8,000/=
	160/=
	

	287
	‡gvt †ejvj †nv‡mb
	‡gvt Rwni DÏxb
	287
	w`qvicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	288
	‡gvt kvnRvjvj
	g„Z Zv‡ni DÏxb
	288
	w`qvicvov
	2
	
	
	2%
	2,000/=
	40/=
	

	289
	‡gvt mvnvR DÏxb
	g„Z Zv‡ni DÏxb
	289
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	290
	‡gvt b‡qR DwÏb
	g„Z AvRMi Avjx
	290
	w`qvicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	291
	‡gvt MvRx gvjvKvi
	g„Z AvwQi gvjvKvi
	291
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	292
	‡gvt Avt mvjvg
	g„Z Avt Kv‡`i
	292
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	293
	‡gvt Aveyj Kvjvg
	‡gvt Kv‡kg
	293
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	294
	‡gvmvt Rwibv †eIqv
	g„Z ˆmq` Avjx
	294
	w`qvicvov
	1
	
	
	1%
	1,000/=
	10/=
	

	295
	‡gvmvt n‡Riv LvZzb
	g„Z evnvi DÏxb
	295
	w`qvicvov
	1
	
	
	1%
	1,000/=
	10/=
	

	296
	‡gvt kg‡mi Avjx
	g„Z kyKPvb
	296
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	297
	‡gvt Kjg`vi
	g„Z Av‡Li Avjx
	297
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	298
	‡gvt AvKei Avjx
	g„Z Av‡Li Avjx
	298
	cvRvcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	299
	‡gvt myRb Avjx
	g„Z mvB`
	299
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	300
	‡gvt Mdzi cÖvs
	g„Z ingZ
	300
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	301
	‡gvt gv‡Qg Avjx cÖvs
	‡gvt Avt Mdzi cÖvs
	301
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	302
	‡gvt nvq`vi Avjx
	g„Z ingZ Avjx
	302
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	303
	‡gvt Gev` cÖvs
	g„Z ingZ cÖvs
	303
	cvRvcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	304
	‡gvt Avt AvwRR
	g„Z byi †gvnv¤§`
	304
	cvRvcvov
	1
	2
	
	2%
	3,000/=
	60/=
	

	305
	‡gvt jyrdi Avjx
	g„Z evnvi †kL
	305
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	306
	‡gvt `yjvj Kvgvi
	‡gvt igRvb Kvgvi
	306
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	307
	‡gvt Avjvj DÏxb
	‡gvt igRvb Kvgvi
	307
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	308
	‡gvt Rqbvj cÖvs
	‡gvt igRvb Kvgvi
	308
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	309
	‡gvt Rvjvj
	‡gvt igRvb Kvgvi
	309
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	310
	‡gvt †gvqv‡¾g Avjx
	‡gvt igRvb Kvgvi
	310
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	311
	‡gvt †ejvj
	‡gvt igRvb Kvgvi
	311
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	312
	‡gvt AvBqye Avjx
	‡gvt Aveyj cÖvs
	312
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	313
	‡gvt Av‡q` Avjx
	‡gvt Aveyj cÖvs
	313
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	314
	‡gvt eveyj 
	‡gvt d‡qR Avjx
	314
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	315
	‡gvt GQvi gvjvKvi
	g„Z bvwmi gvjvKvi
	315
	cvRvcvov
	3
	
	
	2%
	3,000/=
	60/=
	

	316
	‡gvt mv‡ne Avjx
	g„Z mQv Luv
	316
	cvRvcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	317
	‡gvt Avãyj evwi
	g„Z BDmye Lgvi“
	317
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	318
	‡gvt kvnRvnvb Avjx
	g„Z Mixeyj­vn
	318
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	319
	‡gvt AvRvnvi Avjx
	g„Z Mixeyj­vn
	319
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	320
	‡gvt †gvRvnvi Avjx
	g„Z evMvZx
	320
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	321
	‡gvt Avt mvgv`
	g„Z b~i ‡gvnv¤§`
	321
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	322
	‡gvt Avt nv‡g`
	g„Z b~i ‡gvnv¤§`
	322
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	323
	‡gvt Avkivd
	g„Z b~i ‡gvnv¤§`
	323
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	324
	‡gvt AvwRg evMvwZ
	g„Z GbvB evMvZx
	324
	cvRvcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	325
	‡gvt AvjvDwÏb
	g„Z †KivgZ Avjx
	325
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	326
	‡gvt cPuvB g„av
	g„Z kyUKv g„av
	326
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	327
	‡gvt nvwbd
	‡gvt bv‡`i wek¦vm
	327
	cvRvcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	328
	‡gvt bv‡`i wek¦vm
	‡gvt bv‡`i wek¦vm
	328
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	329
	‡gvt BqvwQb Luv
	g„Z m`i DwÏb
	329
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	330
	‡gvt †KZvi Avjx
	g„Z Avnv` Avjx
	330
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	331
	‡gvmvt ggZvR †eIqv
	g„Z AvZvnvi Avjx
	331
	cvRvcvov
	
	2
	
	2%
	4,000/=
	40/=
	

	332
	‡gvt gyKzj dwKi
	g„Z †gvnv¤§`
	332
	cvRvcvov
	1
	
	
	1%
	1,000/=
	20/=
	

	333
	‡gvt Avt iv¾vK dwKi
	g„Z †gvnv¤§`
	333
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	334
	‡gvt GkviZ Avjx
	g„Z †gvnv¤§`
	334
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	335
	‡gvmvt gwRib †eIqv
	g„Z †gvnv¤§` dwKi
	335
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	336
	‡gvt ivûj wkK`vi
	g„Z Zvwni Avjx
	336
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	337
	‡gvmvt Aiybv †eIqv
	g„Z Zv‡ni Avjx
	337
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	338
	‡gvt Avey e°i wmwÏK
	g„Z nv‡Qb wkK`vi
	338
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	339
	‡gvt †ZvZvi Avjx
	g„Z nvQb
	339
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	340
	‡gvt gvwbK Avjx
	g„Z Avey Zv‡je
	340
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	341
	‡gvt kvgmyj Avjg
	g„Z mvnvi Avjx
	341
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	342
	‡gvt knx`yj Bmjvg
	g„Z mvnvi Avjx
	342
	cvRvcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	343
	‡gvt gwn`yj Bmjvg
	g„Z mvnvi Avjx
	343
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	344
	‡gvt iwdKzj Bmjvg
	g„Z mvnvi Avjx
	344
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	345
	‡gvt †mvnvive †nv‡mb
	g„Z mvnvi Avjx
	345
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	346
	‡gvt iweDj Bmjvg
	g„Z mvnvi Avjx
	346
	cvRvcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	347
	‡gvt Kv‡kg Avjx
	g„Z mvwni Avjx
	347
	cvRvcvov
	
	4
	
	2%
	8,000/=
	160/=
	

	348
	‡gvt Av°vQ Avjx
	g„Z mvwni Avjx
	348
	cvRvcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	349
	‡gvt AvwbQyi ingvb
	g„Z mvwni Avjx
	349
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	350
	‡gvt mvBdj Bmjvg
	g„Z mvBer Avjx
	350
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	351
	‡gvt bwgi DÏxb
	g„Z evnvi DwÏb
	351
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	352
	‡gvt Lwei DÏxb
	g„Z evnvi DwÏb
	352
	cvRvcvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	353
	‡gvt ew`i DwÏb
	g„Z evnvi DwÏb
	353
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	354
	‡gvt ivRy
	g„Z evw`i DwÏb
	354
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	355
	‡gvt ‰Zqe Avjx
	g„Z d‡qR Avjx
	355
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	356
	‡gvt fv`y wgqv
	g„Z AvgRv`
	356
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	357
	‡gvt gm‡jg DÏxb(Av`y)
	g„Z AvgRv`
	357
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	358
	‡gvt byi“j Bmjvg(jv`y)
	g„Z AvgRv`
	358
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	359
	‡gvt mv`y cÖvs
	g„Z AvgRv`
	359
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	360
	‡gvt Av`g dwKi
	g„Z AvZve dwKi
	360
	cvRvcvov
	
	2
	
	2%
	4,000/=
	80/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	361
	‡gvt iwdK dwKi
	‡gvt Av`g dwKi
	361
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	362
	‡gvt mwdK dwKi
	‡gvt Av`g dwKi
	362
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	363
	‡gvt wRqvDj dwKi
	‡gvt Av`g dwKi
	363
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	364
	‡gvt mnive Avjx
	g„Z AvZve dwKi
	364
	cvRvcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	365
	‡gvt Kvjy evMvwZ
	g„Z GjvB evMvwZ
	365
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	366
	‡gvt Avjx evMvwZ
	‡gvt Kvjy evMvwZ
	366
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	367
	‡gvmvt †gbœv †eMg
	‡gvt Aveyj †nv‡mb
	367
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	368
	‡gvt gvbœvb Avjx
	†gvt Aveyj
	368
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	369
	‡gvt dwUK Avjx
	†gvt nvwbd Avjx
	369
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	370
	‡gvmvt †`jRvb †eMg
	‡gvt Rqbvj Av‡ew`b
	370
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	371
	‡gvmvt g‡gbv †eMg
	‡gvt Aveyj †nv‡mb
	371
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	372
	‡gvt †gvwgb Avjx
	‡gvt Aveyj †nv‡mb
	372
	ZvjcwU
	1
	
	
	2 %
	1,000/=
	20/=
	

	373
	‡gvmvt R¸iv †eIqv
	g„Z Zv‡je Avjx
	373
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	374
	‡gvt Avt Lv‡jK
	g„Z Avey Zv‡je
	374
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	375
	‡gvt B`yj Avjx
	‡gvt Kv‡kg gÛj
	375
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	376
	‡gvt Avdmvi Avjx
	g„Z Mixeyj­vn
	376
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	377
	‡gvt Kz`iZ Avjx
	g„Z Av°vm Avjx
	377
	ZvjcwU
	
	2
	
	2%
	4,000/=
	80/=
	

	378
	‡gvt AvwRK dwKi
	g„Z gbwRj dwKi
	378
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	379
	‡gvt Avt ingvb Avjx
	g„Z gbwRj dwKi
	379
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	380
	‡gvt wmÏxK dwKi
	g„Z gbwRj dwKi
	380
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	381
	†gvt RyjgZ Avjx
	g„Z gbwRj dwKi
	381
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	382
	†gvt byi Avjg
	‡gvt byi †gvnv¤§`
	382
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	383
	†gvt mv‡`K †gvj­v
	‡gvt Qvjvg
	383
	ZvjcwU
	1
	
	
	2%
	1,000/=
	20/=
	

	384
	†gvt nigyR dwKi
	g„Z KwjgyÏxb
	384
	ZvjcwU
	
	3
	
	2%
	6,000/=
	20/=
	

	385
	†gvt Avt Qvjvg Avjx
	g„Z B¾Z Avjx
	385
	bMicvov
	1
	
	
	2%
	1,000/=
	120/=
	

	386
	†gvt Avt Qvjvg †gvj­v
	g„Z B¾Z Avjx
	386
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	387
	†gvt byi †gvnv¤§`
	g„Z BbQvb Avjx
	387
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	388
	†gvt byi Bmjvg
	‡gvt byi †gvnv¤§`
	388
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	389
	‡gvQvt mywdqv †eMg
	†gvt AveQvi 
	389
	bMicvov
	3
	
	
	2%
	6,000/=
	120/=
	

	390
	†gvt Avt nv‡g`
	g„Z byi wgqv
	390
	bMicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	391
	†gvt iwdK Avjx
	†gvt AveQvi cÖvs
	391
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	392
	†gvt mv‡jgvb
	g„Z B¾Z Avjx
	392
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	393
	†gvt `yjvj Avjx
	g„Z B¾Z Avjx
	393
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	394
	†gvt AvM¯—bx UzKz
	g„Z †ivd Luv
	394
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	395
	†gvt Bewmk wngi“j
	‡gvt ïdj wngi“g
	395
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	396
	†gvt cvIjyg gyigy
	g„Z nvivb gyigy
	396
	bMicvov
	2
	
	
	2%
	2,000/=
	40/=
	

	397
	†gvt nuvm`v
	g„Z †nwKg
	397
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	398
	†gvt †njvi“m nuvm`v
	g„Z jyBm
	398
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	399
	†gvt K‡b©wjDm 
	g„Z †ebvwUK UzKz
	399
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	400
	†gvt wRjy UzKz
	g„Z †ebvwUK UzKz
	400
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	401
	‡gvt wjUb `vm
	g„Z ivLvj
	401
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	402
	‡gvt cvIjyk gviWx
	‡gvt †fvZb
	402
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	403
	‡gvt digvb Avjx
	g„Z †gvnv¤§` Avjx
	403
	bMicvov
	1
	
	
	2%
	1,000/=
	    20/=
	

	404
	‡gvt Lki“ Avn‡g`
	g„Z †gvnv¤§` Avjx
	404
	bMicvov
	1
	
	
	2%
	      1,000/=
	20/=
	

	405
	‡gvt Rvwn`yj Bmjvg
	g„Z Bbmvb
	405
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	406
	‡gvt byi“j Bmjvg
	g„Z Avidvb Avjx
	406
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	407
	‡gvt AvKei †nv‡mb
	g„Z ingZ †gvj­v
	407
	bMicvov
	1
	2
	
	2%
	3,000/=
	60/=
	

	408
	‡gvt Av‡bvAvi †nv‡mb
	g„Z ingZ †gvj­v
	408
	bMicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	409
	‡gvt ingvZ †gvj­v
	g„Z B¾Z Avjx
	409
	bMicvov
	1
	
	
	2%
	2,000/=
	40/=
	

	410
	‡gvt BQvnvK Avjx
	g„Z bqb DÏxb
	410
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	411
	‡gvt Rqbvj Av‡e`xb
	g„Z BQvnK gyÝx
	411
	bMicvov
	
	4
	
	2%
	8,000/=
	160/=
	

	412
	‡gvt Avt Kwig Avjx
	g„Z c‡jvqvb
	412
	bMicvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	413
	‡gvt †ejvj †nv‡mb
	g„Z Avt Kwig
	413
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	414
	‡gvt evey †kL
	g„Z Avt Kwig
	414
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	415
	‡gvt wmivR †nv‡mb
	g„Z Inve Avjx
	415
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	416
	‡gvt Avt iwk`
	g„Z Inve Avjx
	416
	bMicvov
	2
	
	
	2%
	1,000/=
	20/=
	

	417
	‡gvt evejy †nv‡mb
	‡gvt †gvRnvi Avjx
	417
	bMicvov
	1
	
	
	2%
	1,000/=
	    20/=
	

	418
	‡gvt kvnRvnvb Avjx
	g„Z Avt nvwKg
	418
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	419
	‡gvt AvgRv` ‡nv‡mb
	g„Z ‡bï
	419
	kvncvov
	1
	
	
	2%
	1,000/=
	20/=
	

	420
	‡gvt nvwjg
	‡gvt †gvm‡jg
	420
	w`qvicvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	421
	‡gvt i‡n` Avjx
	‡gvt Zv‡ni dwKi
	421
	w`qvicvov
	2
	
	
	2%
	2,000/=
	    40/=
	

	422
	‡gvt mv‡`K Avjx wek¦vm
	‡gvt bv‡`i wek¦vm
	422
	cvRvcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	423
	‡gvt Avt gvbœvb
	‡gvt bv‡`i wek¦vm
	423
	cvRvcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	424
	‡gvt Iqv‡R` Avjx
	‡gvt Mdzi Avjx
	424
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	425
	‡gvt Avt mvgv` cÖvs
	‡gvt b‡Ri Avjx
	425
	cvRvcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	426
	‡gvt RvKvwiqv †nv‡mb
	g„Z Avt Inve
	426
	bMicvov
	1
	
	
	2%
	2,000/=
	40/=
	

	427
	‡gvt Bgivb Avjx
	g„Z Avt Inve
	427
	bMicvov
	1
	
	
	2%
	2,000/=
	40/=
	

	428
	‡gvt AvgRv` †nv‡mb
	g„Z Avt Inve
	428
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	429
	‡gvt gK‡Ze Avjx
	g„Z AvdQvi
	429
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	430
	‡gvt mvwnb Av‡jvg
	‡gvt †gv‡³e Avjx
	430
	bMicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	431
	‡gvt BmivBj †nv‡mb
	‡gvt gwR` †gvj­v
	431
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	432
	‡gvt iwdKzj Bmjg
	g„Z Avt mvgv`
	432
	bMicvov
	
	1
	
	2 %
	2,000/=
	40/=
	

	433
	‡gvt mv‡`K Avjx
	g„Z Avt mvgv`
	433
	bMicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	434
	‡gvt bwReyi ingvb
	g„Z Avt mvgv`
	434
	bMicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	435
	‡gvt kwneyi ingvb
	g„Z Avt mvgv`
	435
	bMicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	436
	‡gvt mwn`yj Bmjvg
	g„Z Avt mvgv`
	436
	bMicvov
	
	1
	
	2%
	2,000/=
	40/=
	

	437
	‡gvt Iqvwkg
	‡gvt kvnRvnvb gÛj
	437
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	438
	‡gvt Av³vi †nv‡mb
	‡gvt kvnRvnvb gÛj
	438
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	439
	‡gvt kvnRvnvb gÛj
	g„Z Av‡Qi gÛj
	439
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	440
	‡gvt KvwRgywÏb
	‡gvt kvnRvnvb
	440
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	441
	‡gvt w``vi eK&m
	‡gvt kvnRvnvb
	441
	bMicvov
	1
	
	
	2%
	1,000/=
	    20/=
	

	442
	‡gvt Iwn`yj Bmjvg
	‡gvt byi e·
	442
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	443
	‡gvt gv‡jKzj
	‡gvt kvnRvnvb
	443
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	444
	‡gvt bvwRi †nv‡mb
	‡gvt kvnRvnvb
	444
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	445
	‡gvt ‡mvenvb Avjx
	g„Z Avt evwi
	445
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	446
	‡gvt mwdKzj Bmjvg
	‡gvt MvwRDi ingvb
	446
	bMicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	447
	‡gvt Avt KzÏym
	g„Z d‡qR DÏxb
	447
	bMicvov
	1
	
	
	0%
	1,000/=
	00/=
	

	448
	‡gvt nvRxKzj
	g„Z Avt mvgv`
	448
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	449
	‡gvt Lv‡`g Avjx
	g„Z Av‡qb DÏxb
	449
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	450
	‡gvt QvËvi †gvj­v
	‡gvt Avt mvjvg
	450
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	451
	‡gvt mv`vKvm Avjx
	‡gvt †mvenvb
	451
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	452
	‡gvt nvm`v
	g„Z Kvby nvm`v
	452
	bMicvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	453
	kªx mycj gyh©~
	g„Z iZb gyh©~
	453
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	454
	kªx wek¦bv_
	g„Z ‰fie gyh©~
	454
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	455
	kªx mybxj gyh©~
	g„Z ‰fie gyh©~
	455
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	456
	kªx wbgvq gyh©~
	g„Z wkey
	456
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	457
	kªx ivdv‡qj †ekiv
	g„Z cviMvbv †ekiv
	457
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	458
	kªx mybxj †ekiv
	g„Z cviMvbv †ekiv
	458
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	459
	kªx Avbxi †ekiv
	g„Z cviMvbv †ekiv
	459
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	460
	kªx cvDjyk gyh©~
	g„Z mg gyh©~
	  460
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	


 BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	461
	kªx ivgvqb gyh©~
	g„Z mg gyh©~
	461
	bMicvov
	1
	
	
	2%
	1,000/=
	    20/=
	

	462
	‡gvt `yjvj fyBqv
	‡gvt Bw`ªm fyBqv
	462
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	463
	‡gvt myi“R fyBqv
	‡gvt Bw`ªm f~Bqv
	463
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	464
	‡gvt Avey eKKi wmwÏK
	g„Z Av‡Qi gÛj
	464
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	465
	‡gvt †Lv`v e·
	‡gvt MvRxDi ingvb
	465
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	466
	‡gvt DwKj
	‡gvt MvRxDi
	466
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	467
	‡gvt MvwRDi ingvb
	g„Z Av‡Qi gÛj
	467
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	468
	‡gvt Avt KzÏym
	g„Z Av‡Qi gÛj
	468
	bMicvov
	
	4
	
	2%
	8,000/=
	160/=
	

	469
	‡gvt †mv‡jgvb Avjx
	g„Z BQvnK
	469
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	470
	‡gvt Igi Avjx
	g„Z †nv‡mb gywÝ
	470
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	471
	‡gvt Avwgi“j Bmjvg
	‡gvt Bgvb Avjx
	471
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	472
	‡gvt nKgvb Avjx
	‡gvt Bgvb Avjx
	472
	bMicvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	473
	‡gvt Avbvi“j Bmjvg
	‡gvt Bgvb Avjx
	473
	bMicvov
	
	2
	
	2%
	4,000/=
	20/=
	

	474
	‡gvt Rv¤^vi  Avjx
	‡gvt Bgvb Avjx
	474
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	475
	‡gvt Bgvb Avjx
	g„Z ZwQi DÏxb
	475
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	476
	‡gvt Avwgi“j Bmjvg
	g„Z †KivgZ Avjx
	476
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	477
	‡gvt wmivRyj Bmjvg
	g„Z †KivgZ 
	477
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	478
	‡gvt kvgmyj Bmjvg
	g„Z †KivgZ 
	478
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	479
	kªx Zviv c` wms
	g„Z gnj­vj wms
	479
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	 480
	kªx ¸i“ c` wms
	g„Z gnj­vj wms
	  480
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	


BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	481
	‡gvt gwR` †gvj­v
	g„Z KwmgywÏb †gvj­v
	481
	bMicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	482
	‡gvt Ave`yj­vn
	‡gvt BmgvBj †nv‡mb
	482
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	483
	‡gvt Aveyj †nv‡mb
	‡gvt BmgvBj †nv‡mb
	483
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	484
	‡gvt BmgvBj †nv‡mb
	g„Z †R‡ni gyÝx
	484
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	485
	‡gvt Beªvnxg †nv‡mb
	‡gvt BmgvBj †nv‡mb
	485
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	486
	kªx mÂq Kzgvi
	kªx dwb
	486
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	487
	kªx gwnr Kzgvi
	kªx dwb
	487
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	488
	kªx Kzgvi
	kªx dwb
	488
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	489
	kªx dwb
	g„Z KvwZ©K
	489
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	490
	‡gvt AvZz †gvj­v
	g„Z mivdZ †gvj­v
	490
	bMicvov
	
	3
	
	2%
	6,000/=
	120/=
	

	491
	‡gvt †gvK‡Q` Avjx
	‡gvt AvZz †gvj­v
	491
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	492
	‡gvt AvKei Avjx
	‡gvt AvZz †gvj­v
	492
	bMicvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	493
	‡gvt Lymei ingvb
	‡gvt AvZz †gvj­v
	493
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	494
	‡gvt gwZ †gvj­v
	‡gvt gwR` †gvj­v
	494
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	495
	‡gvt †mv‡nj 
	‡gvt gwZ †gvj­v
	495
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	496
	 †gvt MvRx †gvj­v
	‡gvt gwR` †gvj­v
	496
	bMicvov
	
	2
	
	2%
	4,000/=
	80/=
	

	497
	‡gvt nK mv‡ne
	‡gvt Avãyj ev‡iK
	497
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	498
	‡gvt AvKei Avjx
	g„Z Lvqi“j­vn wek¦vm
	498
	bMicvov
	1
	
	
	2%
	1,000/=
	20/=
	

	499
	‡gvt Kvgvj cÖvs
	‡gvt gK‡Q` cÖvs
	499
	KvwiMi cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	 500
	‡gvt Lwjj
	g„Z ‡iKvZzj­vn wek¦vm
	   500
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	


BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	501
	‡gvt gK‡Q` Avjx
	g„Z ‡iKvZzj­vn
	501
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	502
	‡gvt mvBdzj Bmjvg
	g„Z Avt Rwjj
	502
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	503
	‡gvt Avbvi“j Bmjvg
	g„Z Kv‡ig DÏxb wek¦vm
	503
	KvwiMi cvov
	
	3
	
	2%
	6,000/=
	120/=
	

	504
	‡gvt byi e·
	‡gvt kvRvnvb
	504
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	505
	‡gvt AvjvDwÏb
	‡gvt Avt nvwg`
	505
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	506
	‡gvt Avt Lv‡jK wkK`vb
	g„Z Zv‡je wmK`vi
	506
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	507
	‡gvt byi“¾vgvb
	g„Z Rwgi DwÏb
	507
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	508
	‡gvt Avwbmyi 
	g„Z ZvRy wek¦vm
	508
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	40/=
	

	509
	‡gvt gybmyi wek¦vm
	g„Z ZvRy wek¦vm
	509
	KvwiMi cvov
	1
	1
	
	2%
	2,000/=
	40/=
	

	510
	‡gvt Bmjvg wek¦vm
	g„Z ˆmq` wek¦vm
	510
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	511
	‡gvt mvBdzj Bmjvg
	g„Z gwbi DÏxb wek¦vm
	511
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	512
	‡gvt †gveviK wek¦vm
	g„Z gwbi DÏxb wek¦vm
	512
	KvwiMi cvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	513
	‡gvt †gvKZvi †nv‡mb
	g„Z †mvbvgywÏb nvIjv`vi
	513
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	514
	‡gvt Av‡jK wek¦vm
	g„Z †R‡Ki Avjx wek¦vm
	514
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	515
	‡gvt Avmv`yj wek¦vm
	g„Z †R‡Ki Avjx wek¦vm
	515
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	516
	‡gvt mvB` wek¦vm
	g„Z †R‡Ki Avjx wek¦vm
	516
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	517
	‡gvt †R‡Ki wek¦vm
	g„Z †ncvR wek¦vm
	517
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	518
	‡gvt †R‡ni wek¦vm
	‡gvt †R‡Ki wek¦vm
	518
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	519
	‡gvt AvRevi wek¦vm
	‡gvt Lvqi“j­vn wek¦vm
	519
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	520
	‡gvt dRjy wek¦vm
	g„Z nvi“ wek¦vm
	  520
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	


BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	521
	‡gvt AvwRRyj wek¦vm
	‡gvt LvBi“vj­vn
	521
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	522
	‡gvt mvB`yj wek¦vm
	‡gvt LvBi“j­vn
	522
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	523
	‡gvt Lvqi“j­vn wek¦vm
	g„Z Zwdj DÏxb
	523
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	524
	‡gvt i“¯—g wek¦vm
	‡gvt Avt nvwg` wek¦vm
	524
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	525
	‡gvt dwKi gÛj
	‡gvt Avwbb gÛj
	525
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	526
	‡gvt Rwdi gÛj
	‡gvt Avwbb gÛj
	526
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	527
	‡gvt ZwiKzj Bmjvg
	‡gvt kwn`yj Bmjvg
	527
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	528
	‡gvt Avwgi“j Bmjvg
	‡gvt nvwjg DÏxb
	528
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	40/=
	

	529
	‡gvt BQvnvK Avjx
	g„Z BmgvBj Avjx
	529
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	530
	‡gvt Avt ReŸvi Avjx
	g„Z †ndvRywÏb wek¦vm
	530
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	531
	‡gvt †mv‡nj ivbv
	‡gvt Avbmvi Avjx
	531
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	532
	‡gvt mvwR`yj wek¦vm
	g„Z †iLvZ wek¦vm
	532
	KvwiMi cvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	533
	‡gvt nvbœvb gÛj
	g„Z AveŸvm Avjx
	533
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	534
	‡gvt gvmyg cÖvs
	‡gvt B`ªxm cÖvs
	534
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	535
	‡gvt Bmivwdj wek¦vm
	‡gvt mv‡R`yj wek¦vm
	535
	KvwiMi cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	536
	‡gvt kwdKzj Bmjvg
	g„Z BbQvi Avjx
	536
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	537
	‡gvt iweDj Bmjvg
	g„Z BbQvi Avjx
	537
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	538
	‡gvt mgRvb Avjx
	g„Z dBgywÏb
	538
	KvwiMi cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	539
	‡gvt myKPvb Avjx
	g„Z dBgywÏb
	539
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	540
	‡gvt kwidzj Bmjvg
	g„Z dBgywÏb
	  540
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	541
	‡gvt bRi“j Bmjvg
	g„Z kvgmywÏb
	541
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	542
	‡gvt Avt Mdzi Avjx
	g„Z Aveyj dwKi
	542
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	543
	‡gvt †Rv‡Ki Avjx
	g„Z Aveyj dwKi
	543
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	544
	‡gvt Av‡jK Avjx
	g„Z Aveyj dwKi
	544
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	545
	‡gvt gv‡jK 
	g„Z Aveyj dwKi
	545
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	546
	‡gvt mvnv` Avjx
	g„Z Aveyj dwKi
	546
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	547
	‡gvt evey
	g„Z Aveyj dwKi
	547
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	548
	‡gvt †ejvj Avjx
	g„Z Aveyj dwKi
	548
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	40/=
	

	549
	‡gvt Avt Lv‡jK
	g„Z Aveyj dwKi
	549
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	550
	‡gvt nv‡Zg Avjx
	g„Z AvZvB
	550
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	551
	‡gvt Avt mvËvi
	g„Z †R‡Ki †gvj­v
	551
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	20/=
	

	552
	‡gvt Avwgi“j Bmjvg
	‡gvt  Avt mvËvi 
	552
	KvwiMi cvov
	
	1
	
	2 %
	2,000/=
	20/=
	

	553
	‡gvt Gbvgyj nK
	‡gvt  Avt mvËvi
	553
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	20/=
	

	554
	‡gvt kwdKzj Bmjvg
	‡gvt  Avt mvËvi
	554
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	20/=
	

	555
	‡gvt iIkb Avjx
	g„Z wmwÏK Avjx
	555
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	10/=
	

	556
	‡gvt bRi“j Bmjvg
	g„Z wmwÏK Avjx
	556
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	557
	‡gvt dRjy invgvb
	g„Z wmwÏK Avjx
	557
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	558
	‡gvt Av°vm Avjx
	g„Z AveŸvm Avjx
	558
	KvwiMi cvov
	
	2
	
	2%
	4,000/=
	80/=
	

	559
	‡gvt gvgyb
	g„Z AveŸvm Avjx
	559
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	560
	‡gvt †mwjg Avjx
	g„Z Mdzi Avjx
	560
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
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	evwl©K g~j¨
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	561
	‡gvt ‡gvwKg Avjx
	‡gvt Av‡qb DÏxb 
	561
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	562
	‡gvt Lwjj
	g„Z f‡ik Avjx
	562
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	563
	‡gvt nvweeyi invgvb
	‡gvt Lwjj
	563
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	564
	‡gvt gvwn`yj
	‡gvt Lwjj
	564
	KvwiMi cvov
	
	1
	
	2%
	2,000/=
	40/=
	

	565
	‡gvt wgjb Avjx
	g„Z gvdz
	565
	KvwiMi cvov
	1
	
	
	1%
	1,000/=
	10/=
	

	566
	‡gvmvt Ihydv †eIqv
	g„Z BQvnK
	566
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	567
	‡gvt gqbvj Avjx
	g„Z BQvnK
	567
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	568
	‡gvt Avwj †nv‡mb
	g„Z AveŸvm gÛj
	568
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	569
	‡gvt Avt gvbœvb
	g„Z BQvnK Avjx
	569
	KvwiMi cvov
	2
	
	
	2%
	1,000/=
	40/=
	

	570
	‡gvt bvRgyj †nv‡mb
	‡gvt jmy wek¦vm
	570
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	571
	‡gvt jmy wek¦vm
	g„Z Zvi“b Avjx
	571
	KvwiMi cvov
	1
	
	
	2%
	2,000/=
	20/=
	

	572
	‡gvt Avt Inve Avjx
	‡gvt Avt iwk` miKvi
	572
	KvwiMi cvov
	1
	
	
	2 %
	2,000/=
	20/=
	

	573
	‡gvt Avt iwk` miKvi
	g„Z mvevb miKvi
	573
	KvwiMi cvov
	1
	
	
	2%
	2,000/=
	20/=
	

	574
	‡gvt igRvb Avjx
	g„Z †gvnv¤§` Avjx
	574
	KvwiMi cvov
	
	4
	
	2%
	8,000/=
	160/=
	

	575
	‡gvt ‡jvKgvb 
	g„Z mvevb Avjx
	575
	KvwiMi cvov
	4
	
	
	2%
	4,000/=
	80/=
	

	576
	‡gvt mvgv` Avjx
	g„Z †gvnv¤§` Avjx
	576
	KvwiMi cvov
	1
	
	
	2%
	1,000/=
	20/=
	

	577
	‡gvt kvgmyj Avjx
	g„Z †gvnv¤§` Avjx
	577
	KvwiMi cvov
	
	4
	
	2%
	8,000/=
	160/=
	

	578
	‡gvt Avnmvb Avjx
	g„Z K¨vKvi“
	578
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	579
	‡gvt Av‡e` Avjx
	‡gvt n‡Zg Avjx
	579
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	580
	‡gvt m‡jgvb †kL
	g„Z Imgvb †kL
	580
	‰eivMxcov
	1
	
	
	1%
	1,000/=
	10/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	581
	‡gvt Rqbvj Avjx
	g„Z BmjvgBj ‰eivMx
	581
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	582
	‡gvmvt mvq`v †eIqv
	g„Z BmjvgBj ‰eivMx
	582
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	583
	‡gvmvt gqbv †eIqv
	g„Z gbwRj ‰eivMx
	583
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	584
	‡gvt gyKej †gvj­v
	g„Z †`‡jvqvi †gvj­v
	584
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	585
	‡gvt Zv‡ni †gvj­v
	g„Z †`‡jvqvi †gvj­v
	585
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	586
	‡gvt ¯^cb †gvj­v
	g„Z Z‡ni †gvj­v
	586
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	587
	‡gvt Avwgbyi †gvj­v
	g„Z †`‡jvqvi †gvj­v
	587
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	588
	‡gvt ïK‡ej †gvj­v
	g„Z †`‡jvqvi †gvj­v
	588
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	589
	‡gvt gvwbK †gvj­v
	g„Z †`‡jvqvi †gvj­v
	589
	‰eivMxcov
	1
	
	
	2%
	1,000/=
	20/=
	

	590
	‡gvmvt R‡gjv †eIqv
	g„Z †`‡jvqvi †gvj­v
	590
	¯‹zjcvov
	1
	
	
	1%
	1,000/=
	10/=
	

	591
	‡gvt ejvj gvjvKvi
	g„Z jwgi gvjvKvi
	591
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	592
	‡gvt Iwmi DÏxb
	g„Z jwgi gvjvKvi
	592
	¯‹zjcvov
	2
	
	
	2 %
	2,000/=
	40/=
	

	593
	‡gvt Avwgi“j gvjvKvi
	g„Z jwgi gvjvKvi
	593
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	594
	‡gvt Rwgi“j gvjvKvi
	g„Z jwgi gvjvKvi
	594
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	595
	‡gvt eveyj gvjvKvi
	g„Z jwgi gvjvKvi
	595
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	596
	‡gvt gwdR gvjvKvi
	g„Z bwmi gvjvKvi
	596
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	597
	‡gvt bvwRg gvjvKvi
	g„Z bwmi gvjvKvi
	597
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	598
	‡gvt gwn`yj Bmjvg
	g„Z †mvenvb dwKi
	598
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	599
	‡gvt iwn`yj Bmjvg
	g„Z †mvenvb dwKi
	599
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	600
	‡gvt AvwRgywÏb
	g„Z AvjxgyÏxb
	600
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	601
	‡gvt Rvjvj DÏxb
	g„Z Avwjg DÏxb 
	601
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	602
	‡gvt gnvZve Avjx
	‡gvt Rwjj DÏxb
	602
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	603
	‡gvt Avt Lv‡jK
	g„Z †gvnv¤§` Avjx
	603
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	604
	‡gvt Avt Lv‡jK
	g„Z byi ‡gvnv¤§` Avjx
	604
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	605
	‡gvt wiqvR DÏxb
	g„Z ˆjqh DÏxb
	605
	¯‹zjcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	606
	‡gvt Avt RveŸvi
	g„Z †KdvZzj­vn
	606
	¯‹zjcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	607
	‡gvt Av°vm Avjx
	‡gvt Avt ReŸvi
	607
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	608
	‡gvt wm`y
	g„Z Lwni Avjx
	608
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	609
	‡gvt Avãyj evix
	g„Z wRqviZ Avjx
	609
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	610
	‡gvt Avãj ev°vi
	g„Z wRqviZ ev°vi
	610
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	611
	‡gvt Lwjj ev°vi
	g„Z cPvB ev°vi
	611
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	612
	‡gvt BqviZ Avjx
	g„Z cPv Avjx 
	612
	¯‹zjcvov
	
	2
	
	2 %
	4,000/=
	80/=
	

	613
	‡gvt m‡jgvb Avjx
	g„Z cPv bv¤^vi
	613
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	614
	‡gvt Rvdi Avjx
	g„Z Rwni cÖvs
	614
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	615
	‡gvt Rygj cÖvs
	g„Z Rwni cÖvs
	615
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	616
	‡gvt civb cÖvs
	g„Z Rwni cÖvs
	616
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	617
	‡gvmvt byi Rvnvb †eIqv
	g„Z Rwni cÖvs
	617
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	618
	‡gvt knx`
	‡gvt ¯^vwab miKvi
	618
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	619
	‡gvt Avt iwng
	‡gvt ¯^vwab miKvi
	619
	¯‹zjcvov
	
	3
	
	2%
	6,000/=
	120/=
	

	620
	‡gvt e‡qb DÏxb
	g„Z †djy †gvj­v
	620
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
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	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	621
	‡gvt Av‡qb DÏxb
	g„Z ‡djy †gvj­v
	621
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	622
	‡gvt Aveyj Kv‡kg
	g„Z wgVb 
	622
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	623
	‡gvt nv‡Qb Avjx
	‡gvt Aveyj Kv‡kg
	623
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	624
	‡gvt û‡mb Avjx
	‡gvt Aveyj Kv‡kg
	624
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	625
	‡gvt Avng` Avjx
	g„Z ‡gvnv¤§` Avjx
	625
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	626
	‡gvt Avey mvB`
	g„Z Avt mvgv` †gvj­v
	626
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	627
	‡gvt Avt iv¾vK
	g„Z Avt mvgv`
	627
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	628
	‡gvt wgjb Avjx
	‡gvt wm`y Avjx
	628
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	629
	‡gvt Kwij Avjx
	g„Z ïKPvb
	629
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	630
	‡gvt Avt mvjvg
	g„Z bwmi DÏxb bv¤^vi
	630
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	631
	‡gvt S›Uz ingvb
	g„Z AvBqye Avjx
	631
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	632
	‡gvt ¯^vwab Avjx
	g„Z ïKPvb Avjx
	632
	¯‹zjcvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	633
	‡gvt ev`vj †nv‡mb
	g„Z ïKPvb Avjx
	633
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	634
	‡gvt nvwej †nv‡mb
	g„Z ïKPvb Avjx
	634
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	635
	‡gvt Rvwej †nv‡mb
	g„Z ïKPvb †nv‡mb
	635
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	636
	‡gvt Aveyj †nv‡mb
	‡gvt ïKPvb 
	636
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	637
	‡gvt eveyj †nv‡mb
	g„Z ïKPvb 
	637
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	638
	‡gvt Rvgvj †nv‡mb
	g„Z n‡g` †gvj­v
	638
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	639
	‡gvt Kvgvj †nv‡mb
	g„Z n‡g` †gvj­v
	639
	¯‹zjcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	640
	‡gvt AvKei †nv‡mb
	‡gvt AveŸvm Avjx
	640
	¯‹zjcvov
	
	3
	
	2%
	6,000/=
	120/=
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bs
	bvg
	wcZv/¯^vgx
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	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	641
	‡gvt AvRv` 
	g„Z Avt mvgv` †gvj­v
	641
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	642
	‡gvt AvKivg Avjx
	g„Z mvgv` †gvj­v
	642
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	643
	‡gvt Kvjvg
	g„Z bvwmi DÏxb Lv¤^vi
	643
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	644
	‡gvt Avt gvbœvb Avjx
	g„Z bvwmi DÏxb
	644
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	645
	‡gvnv¤§` Avjx †gvj­v
	g„Z hygvbx †gvj­v
	645
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	646
	‡gvt Ry‡qj ivbv
	g„Z Avt ReŸvi Avjx
	646
	¯‹zjcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	647
	‡gvt jrdi †gvj­v
	‡gvnv¤§` †gvj­v
	647
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	648
	‡gvt gwRei †gvj­v
	‡gvnv¤§` †gvj­v
	648
	¯‹zjcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	649
	‡gvt gš—vR †gvj­v
	‡gvnv¤§` †gvj­v
	649
	¯‹zjcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	650
	‡gvt Bš—vR †gvj­v
	‡gvnv¤§` †gvj­v
	650
	¯‹zjcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	651
	‡gvt bRi“j †gvj­v
	‡gvnv¤§` †gvj­v
	651
	¯‹zjcvov
	
	3
	
	2%
	6,000/=
	160/=
	

	652
	‡gvt Avnv` Avjx
	‡gvt Kjg cÖvs
	652
	¯‹zjcvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	653
	‡gvt Gikv` Avjx cÖvs
	‡gvt Avnv` Avjx
	653
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	654
	‡gvt iwdKzj Bmjvg
	‡gvt Avnv` Avjx
	654
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	655
	‡gvt i“ûj Avwgb
	g„Z Avey eKKi miKvi
	655
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	656
	‡gvt Avt QvËvi
	g„Z mv‡g` †gvj­v
	656
	¯‹zjcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	657
	‡gvt gi‡k` Avjx
	‡gvt Avnv` Avjx †gvj­v
	657
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	658
	‡gvt byivR Avjx
	‡gvt Avnv` Avjx †gvj­v
	658
	¯‹zjcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	659
	‡gvt bRi“j Bmjvg
	‡gvt gwdR Dj­vn
	659
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	660
	‡gvt gwdR DÏxb
	g„Z AvwRRyj miKvi
	660
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	40/=
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	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	661
	‡gvt gKeyj †nv‡mb
	‡gvt gwdR DÏxb
	661
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	662
	‡gvt gwRei ingvb
	‡gvt gwdR DÏxb
	662
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	663
	‡gvt bwei DÏxb
	‡gvt gwdR DÏxb
	663
	‡Nvlcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	664
	‡gvt kvnvevb Avjx
	g„Z Rwmg DÏxb gÛj
	664
	‡Nvlcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	665
	kªx gy›Uz P›`ª †Nvl
	g„Z ewkbv_ †Nvl
	665
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	666
	‡gvt iwnm DÏxb
	g„Z AvwRRyj miKvi
	666
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	667
	‡gvt Rvgi“j Bmjvg
	‡gvt iwng DÏxb
	667
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	668
	‡gvt g‡qR DÏxb
	g„Z AvwRRyj miKvi
	668
	‡Nvlcvov
	1
	1
	
	2%
	3,000/=
	60/=
	

	669
	‡gvt evey
	‡gvt g‡qR DÏxb
	669
	‡Nvlcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	670
	‡gvt eKzj DÏxb
	‡gvt g‡qR DÏxb
	670
	‡Nvlcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	671
	‡gvt igRvb Avjx
	g„Z AvwRRyj miKvi
	671
	‡Nvlcvov
	
	2
	
	2%
	6,000/=
	80/=
	

	672
	‡gvQvt Rv‡e`v wewe
	‡gvt kvnRvnvb Avjx
	672
	‡Nvlcvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	673
	‡gvt nwg`yj Bmjvg
	‡gvt kvnRvnvb Avjx
	673
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	674
	kªx KvwZ©K P›`ª †Nvl
	g„Z civb P›`ª †Nvl
	674
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	675
	‡gvt kvnRvnvb Avjx
	g„Z AvjnvR¡ wiqvR DÏxb
	675
	‡Nvlcvov
	
	5
	
	2%
	10,000/=
	200/=
	

	676
	‡gvt kvgmyj û`v
	g„Z Rwmg DÏxb gÛj
	676
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	677
	‡gvt dRjyi ingvb
	g„Z Rwmg DÏxb
	677
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	678
	‡gvt knx`yj Bmjvg
	nvRx †gvt RvivdZzj­vn
	678
	‡Nvlcvov
	
	5
	
	2%
	10,000/=
	200/=
	

	679
	‡gvt AvBqye Avjx
	g„Z wfKz miKvi
	679
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	680
	‡gvt †gvRv‡¤§j nK
	‡gvt AvBqye Avjx
	680
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
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	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	681
	‡gvt gyKzj †nv‡mb
	g„Z AvBqye Avjx
	681
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	682
	‡gvt Avt Rwjj
	g„Z f‡ik gÛj
	682
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	683
	‡gvt mvB`yj Bmjvg
	‡gvt Avt Rwjj
	683
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	684
	‡gvt IevB`yj Bmjvg (Kvjy)
	‡gvt Avt Rwjj
	684
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	685
	‡gvt gvwR`yj Bmjvg
	‡gvt Avt Rwjj
	685
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	686
	‡gvt nvwRRyj Bmjvg
	‡gvt Avt Rwjj
	686
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	687
	‡gvt gwbi“j Bmjvg
	nvwR †gvt RvivdZzj­vn
	687
	‡Nvlcvov
	1
	
	
	2%
	1,000/=
	20/=
	

	688
	‡gvt Avkivdzj Bmjvg
	nvwR †gvt RvivdZzj­vn
	688
	‡Nvlcvov
	
	4
	
	2%
	8,000/=
	160/=
	

	689
	‡gvt Avwgi †nv‡mb
	g„Z Rwmg DÏxb
	689
	‡Nvlcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	690
	‡gvt gvwiK DÏxb
	g„Z Rwmg DÏxb
	690
	‡Nvlcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	691
	‡gvt Bš—vR Avjx
	g„Z Rwmg DÏxb
	691
	‡Nvlcvov
	
	2
	
	2%
	4,000/=
	80/=
	

	692
	‡gvt †ejvj DÏxb
	g„Z BQvnK ‡kL
	692
	‡Nvlcvov
	1
	
	
	2 %
	1,000/=
	20/=
	

	693
	‡gvt byi“j Bmjvg
	g„Z Rwmg DÏxb
	693
	‡Nvlcvov
	
	4
	
	2%
	8,000/=
	160/=
	

	694
	‡gvt kvnRvnvb Avjx
	g„Z AvjnvR wiqvR DÏxb
	694
	‡Nvlcvov
	
	1
	
	2%
	2,000/=
	40/=
	

	695
	‡gvt ‡jvKgvb Avjx
	g„Z †`‡jvqvi Avjx
	695
	‡Nvlcvov
	2
	
	
	2%
	2,000/=
	40/=
	

	696
	‡gvt Avwgi“ij Bmjvg
	‡gvt Iqv‡R` cÖvs
	696
	nvwibv Wv½x
	
	2
	
	2%
	4,000/=
	80/=
	

	697
	‡gvt gvwbK Avjx
	‡gvt †mv‡jgvb cÖvs
	697
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	698
	‡gvt Avt Qvgv`
	g„Z Kwmg DÏxb
	698
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	699
	‡gvt Kzievb Avjx
	g„Z Avt Kwig wek¦vm
	699
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	700
	‡gvt Avwgi nvgRv
	‡gvt Iqv‡R`
	700
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	


BDwbqb cwil‡`i Ki avh© †iwRóvi


	µwgK

bs
	bvg
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	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	701
	‡gvt Avwgi“j Bmjvg
	‡gvt cvbRy
	701
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	702
	‡gvt Avt AvwRR
	g„Z AvwjgyÏxb
	702
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	703
	‡gvt byi Bmjvg
	g„Z AvwjgyÏxb
	703
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	704
	‡gvt AvgRv` cÖvs
	g„Z Av‡Qi cÖvs
	704
	nvwibv Wv½x
	
	2
	
	2%
	4,000/=
	80/=
	

	705
	‡gvt †gvm‡jg DÏxb cÖvs
	g„Z IwQi cÖvs
	705
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	706
	‡gvQvt AvKwjgv †eMg
	‡gvt †mv‡jgvb cÖvs
	706
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	707
	‡gvt Avt †mvenvb
	g„Z Ri“ mi`vb
	707
	nvwibv Wv½x
	
	4
	
	2%
	8,000/=
	160/=
	

	708
	‡gvt Iqv‡R` Avjx
	g„Z kixqZyj­vn
	708
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	709
	‡gvt Avt Lv‡jK
	g„Z ïKzi Avjx
	709
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	710
	‡gvt AvRMi Avjx
	g„Z IwQi cÖvs
	710
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	711
	‡gvt gvgyb Avjx
	g„Z Av‡qR DÏxb
	711
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	712
	‡gvt wgjb Avjx
	g„Z Avt ingvb
	712
	nvwibv Wv½x
	1
	
	
	2 %
	1,000/=
	20/=
	

	713
	‡gvt Rvgi“j Bmjvg
	‡gvt Iqv‡R` Avjx
	713
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	714
	‡gvt Puvb wgqv
	‡gvt Iqv‡R` Avjx
	714
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	715
	‡gvt AvdQvi Avjx
	g„Z AveŸvm
	715
	nvwibv Wv½x
	
	1
	
	2%
	2,000/=
	40/=
	

	716
	‡gvt Avkivd Avjx
	g„Z AveŸvm
	716
	nvwibv Wv½x
	
	1
	
	2%
	2,000/=
	40/=
	

	717
	‡gvt †ejvj DÏxb
	g„Z AveŸvm
	717
	nvwibv Wv½x
	
	1
	
	2%
	2,000/=
	40/=
	

	718
	‡gvt nvwdRyj Bmjvg
	‡gvt gwdR DÏxb
	718
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	719
	‡gvt Av‡`k Avjx
	g„Z bwni DÏxb
	719
	nvwibv Wv½x
	1
	
	
	0%
	1,000/=
	00/=
	

	720
	‡gvt AvRv` Avjx
	‡gvt Av‡`k Avjx
	720
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
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	bvg
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	MÖvg/gnj­v
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	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	721
	‡gvt †nv‡mb Avjx
	‡gvt Av‡`k Avjx
	721
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	722
	‡gvt Bgvb Avjx
	‡gvt Av‡`k Avjx
	722
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	723
	‡gvt gwbi“Ïxb cÖvs
	g„Z Ly`x
	723
	nvwibv Wv½x
	
	3
	
	2%
	6,000/=
	120/=
	

	724
	‡gvt iwn`yj Bmjvg
	‡gvt m‡jgvb Avjx
	724
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	725
	‡gvt nvwbd 
	‡gvt m‡jgvb Avjx
	725
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	726
	‡gvt †iRvDj Kwig
	‡gvt m‡jgvb Avjx
	726
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	727
	‡gvt †iqvR DÏxb
	g„Z evnvi DÏxb
	727
	nvwibv Wv½x
	
	2
	
	2%
	4,000/=
	80/=
	

	728
	‡gvt ïKzi Avjx
	‡gvt Avãyj
	728
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	729
	‡gvt cvbRvZb Avjx
	g„Z AveŸvm
	729
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	730
	‡gvt Bmjvg
	‡gvt cvbRvZb Avjx
	730
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	731
	‡gvt Avt mvjvg
	‡gvt cvbRvZb 
	731
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	732
	‡gvt Aveyj Kvjvg AvRv`
	‡gvt cvbRvZb 
	732
	nvwibv Wv½x
	1
	
	
	2 %
	1,000/=
	20/=
	

	733
	‡gvQvt K‡gjv †eMg
	‡gvt `yjy
	733
	nvwibv Wv½x
	1
	
	
	0%
	1,000/=
	00/=
	

	734
	‡gvt gwj­vK Pvub
	‡gvt m‡jgvb Avjx
	734
	nvwibv Wv½x
	1
	
	
	1%
	1,000/=
	10/=
	

	735
	‡gvt gybQyi ingvb
	g„Z Zwei DÏxb
	735
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	736
	‡gvt †gvkvid Avjx
	‡gvt gybQyi Avjx
	736
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	737
	‡gvt bIkv` Avjx
	‡gvt gybQyi Avjx
	737
	nvwibv Wv½x
	2
	
	
	4%
	2,000/=
	80/=
	

	738
	‡gvt †gv¯—vdv Avjx
	g„Z w``vi Avjx
	738
	nvwibv Wv½x
	1
	2
	
	2%
	5,000/=
	100/=
	

	739
	‡gvt Avkivdzj Bmjvg
	g„Z w``vi 
	739
	nvwibv Wv½x
	
	1
	1
	2%
	5,000/=
	100/=
	

	740
	‡gvt bRi“j Bmjvg
	g„Z w``vi 
	740
	nvwibv Wv½x
	2
	1
	
	2%
	4,000/=
	80/=
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

	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	741
	‡gvt knx`j Bmjvg
	g„Z w``vi
	741
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	742
	‡gvt AvwRgyÏxb
	g„Z Avwei DÏxb
	742
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	40/=
	

	743
	‡gvt AvBqye Avjx
	g„Z Avwei DÏxb
	743
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	744
	‡gvt †gvRv‡¤§j nK
	g„Z Avt ingvb
	744
	nvwibv Wv½x
	
	2
	
	2%
	4,000/=
	80/=
	

	745
	‡gvt ‡`jei †nv‡mb
	‡gvt Avnv` Avjx
	745
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	746
	‡gvt nweei mngvb
	‡gvt Avnv` Avjx
	746
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	747
	‡gvt g‡qb Avjx
	g„Z Rqgyj­vn
	747
	nvwibv Wv½x
	1
	4
	
	2%
	9,000/=
	180/=
	

	748
	‡gvt i‡qb DÏxb
	g„Z Rqgyj­vn
	748
	nvwibv Wv½x
	1
	2
	
	2%
	5,000/=
	100/=
	

	749
	‡gvt Avjx gyÏxb
	g„Z Av‡Qi Avjx
	749
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	750
	‡gvt nv‡Qb Avjx
	g„Z kivdZzj­vn
	750
	nvwibv Wv½x
	2
	
	
	2%
	2,000/=
	40/=
	

	751
	‡gvt †Mvjvg imyj
	g„Z Awei DÏxb
	751
	nvwibv Wv½x
	1
	
	
	1%
	1,000/=
	10/=
	

	752
	‡gvt Imxg DÏxb
	g„Z ewmi DÏxb
	752
	nvwibv Wv½x
	1
	
	
	2 %
	1,000/=
	20/=
	

	753
	‡gvt Avbvi“j Bmjvg
	‡gvt Iwmg DÏxb
	753
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	754
	‡gvt †g‡ni Avjx
	g„Z †mï
	754
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	755
	‡gvt iRe Avjx
	g„Z Av‡Qi Avjx
	755
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	756
	‡gvt Avt ingvb
	g„Z Ri“
	756
	nvwibv Wv½x
	
	3
	
	2%
	6,000/=
	120/=
	

	757
	‡gvt m‡`i Avjx
	g„Z KvPz cÖvs
	757
	nvwibv Wv½x
	
	5
	
	2%
	10,000/=
	200/=
	

	758
	‡gvt †j`y cÖvs
	g„Z †jmy cÖvs
	758
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	759
	‡gvt gvnveyi ingvb
	‡gvt †j`y cÖvs
	759
	nvwibv Wv½x
	1
	
	1
	2%
	1,000/=
	20/=
	

	760
	‡gvt Rbve gÛj
	g„Z †LZb
	760
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	


BDwbqb cwil‡`i Ki avh© †iwRóvi
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
	µwgK

bs
	bvg
	wcZv/¯^vgx
	IqvW©/ †nvwìs bs
	MÖvg/gnj­v
	m¤ú‡`i weeiY
	evwl©K Ki 1/6

g~j¨vqb ev‡`
	evwl©K g~j¨
	gš—e¨

	
	
	
	
	
	KuvPv
	‡mwg
	Qv`
	2%
	
	
	

	761
	‡gvt Rg‡k` Avjx
	‡gvt Rbve Avjx
	761
	nvwibv Wv½x
	1
	2
	
	2%
	5,000/=
	100/=
	

	762
	‡gvt Puvb wgqv
	‡gvt Rbve Avjx
	762
	nvwibv Wv½x
	1
	
	
	2%
	1,000/=
	20/=
	

	763
	‡gvt dzjevm Avjx
	g„Z KvPz cÖvs
	763
	nvwibv Wv½x
	
	5
	
	2%
	10,000/=
	200/=
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	

	me©‡gvU
	613
	471
	5
	
	
	30,980/=
	


IqvW© bs- 01
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